Simuaneous Eduations (same \ coefficiewts)

Carry out Substitute Check using State
Question S::tcll- aocrt'? addition or ‘cl>vuotr: X into one ‘(’:ﬁ;rk other both
" | subtraction equation y equation | answers
_ 3x+y =17 3x +y =17 x+y=7 _
Y= 2x =10 y =2 v y =
. 5x + 2y =12 5x + 2y =12 3x —2y =4 _
53xxt22y__142 Add |+3x-2y=4 | x=2 | 10+2y=12 | y=1 | 6-2=4 x:i
Y= 8x =16 2y =2 v y =
_ x—2y=2 x—2y=2 4x + 2y = 18 B
4§+§y:i8 Add | +4x+2y=18| x=4 | 4-2y=2 | y=1 | 16+2=18 x:‘i
Y= 5 =20 —2y = — v Y=
_ 4x — 3y =18 4x — 3y =18 x—3y=09 B
4§_§y:38 Subtract | —x—3y=9 | x=3 | 12-3y=18 |y=-2|3-(=6) =9 x_—_32
Y= 3x =9 ~3y = v Y
_ x+4y =19 x+4y =19 3x +4y =17 o
,Df“xtrty ‘_1197 Subtract | —3x+4y=17 |x=—-1| —1+4y=19 | y=5 [-3+20=17| *7 51
Y= —2x =2 4y = 20 4 Y=
. 2x+y =3 2x +y = 6x —y =17 B
62xx_+y__137 Add + 6x—y=17 | x =25 5+y= y=-2|15-(=2)=17 x:2_.5
Y= 8x =20 =2 v Y=




